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1 ETFERFE(GUI)FIZE B R ER1E (step by step)

(1)3EN ANSYS(#5E Tk B FM TIECH)
FERF—ANSYS— ANSYS Interactive —Working directory (i% & T./F H3%) —Initial jobname(i% & T

YE S 42):beam3—~Run— OK

(2) BEHERA
ANSYS Main Menu:Preferences... — Structural — OK

(3) MEFRBITLRA
ANSYS Main Menu: Preprocessor —Element Type—Add/Edit/Delete... —Add... —beam: 2D elastic
3—0OK (& [5] 2] Element Types % 1) —Close

(4) EXMHSH

ANSYS Main Menu: Preprocessor —Material Props —Material Models— Structural —Linear —
Elastic— Isotropic: EX:3ell (B &) — OK—RAbr iz s 04 EAK “ X7 RKEMiZE D

(5) 5& SLSEH B LA e~ IH o BRI R BE
ANSYSMain Menu: Preprocessor—Real Constants... —Add/Edit/Delete —Add—Type 1 Beam3—

OK—Real Constant Set No: 1 (58 1 5524 %0), Cross-sectional area:6.8e-4 (FHIEEHAY)—~OK —Close

(6) A=RRJ U

AT R

ANSYS Main Menu: Preprocessor —Modeling—Creat—Nodes—In Active CS—Node number 1—
X:0,Y:0.96,Z:0— Apply—Node number 2—X:1.44,Y:0.96,Z:0—Apply—Node number 3—X:0,Y:0,Z:0—
Apply—Node number 4—-X:1.44,Y:0,Z2:0—0K

AR TT

ANSYS Main Menu: Preprocessor = Modeling —Create—Element —Auto Numbered— Thru
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Nodes —iEHEH7a 1. 2(AERHTG 1)~ apply —IEF Al 1. 3(AERUEIG 2)—>apply —~IEFE A2, 4%
R TG 3)~O0K
(TR AN LI R A M8
FELn X J5 R 7

ANSYS Main Menu: Solution —Define Loads — Apply —Structural —Force/Moment— On Nodes
— %375 55 1— apply —Direction of force:FX—~VALUE: 3000—~ OK—

BTN Y 5 1A B ¥ AT H A
ANSYS Main Menu: Solution —Define Loads — Apply —Structural — Pressure —On Beams—i%
BRA 0 1(T 4 1 A5 45 2 2 [|)— apply —VALI: 4167—VALJ: 4167—0K

Fiv AN RMZR

ANSYS Main Menu: Solution —Define Loads — Apply —Structural — Displacement — On Nodes
—JRHY A 3 fIA5 5 4 — Apply —Lab:ALL DOF — OK
@) it &

ANSYS Main Menu:Solution = Solve =~ Current LS — OK — Should The Solve Command be
Executed?Y—Close (Solution is done! ) =~ CF&H O

(9) GRER

ANSYS Main Menu: General Postproc—Plot Results —Deformed Shape... —Def + Undeformed—OK
(J& [5] 2] Plot Results)

ANSYS Main Menu: General Postproc—Element Table — Add — Lab: mi, Item: By sequence num,
Smisc 6, — Apply — Lab: m2, Item: By sequence num, Smisc 12,—~ Apply (i2 [5]3]] Plot Results)

ANSYS Main Menu: General Postproc—Plot Results —Line Elem Res —Lab I: ml, Lab J: m2—0K
(J& [5] 2] Plot Results)

(10) B RG
ANSYS Utility Menu: File— Exit...—~ Save Everything—OK

(11) HHEE RARIE
5 MATLAB 2 1l H 45 5 —3
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19%9%%%%%%%%% | JRIAELLEE ) ANSY'S 524914 T %%% begin%%%%%
/PREP7 13t N\ A AbHE

ET,1,beam31if % #0357

R,1,6.5e-7,6.8e-4 15 S B (AT AR L 1B )
MP,EX,1,3e1 1145 Hi A4 R} e M AR i

N,1,0,0.96,0 A= 4 /N5 R, A4 45(0,0.96,0), BATR AL

N,2,1.44,0.96,0

N,3,0,0,0

N,4,1.44,0,0

E,.1,2 VERRITOER: 1 5 A M 2 5 R), BANZRU
E,1,3

E,2,4

D,3,ALL PR 3 51 S AL A ] e

D,4,ALL VR 4 55 55 B AL RS A 5

F,1,FX,3000 ITE 1571 sSALHE N x 77 171 193 (3000)
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SFBEAM,1,1,PRESS,4167  Uita N4 s /1

FINISH V45 AT AL ER S

ISOLU 1k AR g

SOLVE R

FINISH 145 5ORARIRAS

/POST1 PPN =Y L

PLDISP,1 VEIRA TR L
ETABLE,m1,SMISC, 6 VE ST R | IR
ETABLE,m2,SMISC, 12 VB SCERL TG A J A
PLLS,M1,M2,1,0 VERE AR
PRNSOL,U,COMP Ulist 45 PR e
PRRSOL,M Vlist 17 A3 =S58
FINISH 125 R 5 b 3R
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